& m/ﬁu?s caiit: www.ziptrading.org mnoura: sales@ziptrading.org Ten.: +7 (495) 36-36-697

JIEMEHTDBI KPEIIVIEHUSA

Bushing




L@ caiiT: www.ziptrading.org moura: sales@ziptrading.org Temn.: +7 (495) 36-36-697

®JIAHIBI KPEIEKHBIE

SM Bolt-on-Hub

BF Bolt-on-Hub

J -

2.5

FLANGE
Hub Bush J
Reference Number No.xDiam
SM 12 1210 180 90 135 26 6.5 6x7.5
SM 16-1 1610 200 110 150 26 7.5 6x7.5
SM 16-2 1615 200 110 150 38 f.5 6x7.5
SM 20 2012 270 140 190 32 8.5 6x9.5
SM 25 2517 340 170 240 45 9.5 6x11.5
SM 30-1 3020 430 220 300 51 13.5 8x13.5
SM 30-2 3020 485 250 340 51 13.5 8x13.5

Hub Bush
Reference Number
BF 12 1210 120 80 100 25 55 80 10 6x7.5
BF 16 1610 130 90 110 25 6.5 90 10 6x7.5
BF 20 2012 145 100 125 30 8.5 100 13 6x9.5
BF 25 2517 185 130 155 44 11.5 119 20 8x11.5
BF 30 3020 220 165 190 50 11:5 147 20 8x13.5




L/%M/;z caiiT: www.ziptrading.org moura: sales@ziptrading.org Temn.: +7 (495) 36-36-697

CTYIIMIbI TIPUBAPHBIE

|
*l

WH WM
HUBS
SIZE Bushing B C D = F
WH12 1210 70 65 64.5 25 9 10
WH16-1 1610 80 75 74.5 25 9 10
WH20 2012 95 90 89.5 32 12 12
WH25 2517 115 110 109.5 44 19 15
WH30-2 3020 145 140 139.5 50 20 15
WH35 3525 190 180 179.5 65 25 25
WH40 4040 200 190 189.5 101 32 30
WH45 4545 210 200 199.5 114 40 30
WH50 5050 230 220 219.5 127 40 35
SIZE Bushing A =] C D = F
W12 1215 73.03 63.50 62.17 38.10 15.88 9.53
W16 1615 82.55 73.03 72.24 38.10 15.88 9.53
w20 2017 101.60 88.90 88.11 44 .45 19.05 14.45
w25 2517 127.00 111.13 110.34 44 .45 19.05 12.70
W30 3030 149.86 133.35 132.56 76.20 25.40 19.05
W35 3535 184.15 158.75 157.96 88.90 31.75 25.40
w40 4040 225.43 196.85 196.06 101.60 31.75 31.75
W45 4545 254.00 222.25 221.46 114.30 38.10 38.10
SIZE Bushing A B C D = F
WM12 1210 70.00 60.00 58.00 25.00 9.00 10.00
WM16-1 1610 83.00 70.00 68.00 25.00 9.00 10.00
WM16-2 1615 83.00 70.00 68.00 38.00 16.00 11.00
WM20 2012 95.00 90.00 88.00 32.00 12.00 12.00
WM25 2517 127.00 | 110.00 108.00 44.00 19.00 13.00
WM30-1 3020 152.00 | 130.00 125.00 50.00 20.00 15.00
WM30-2 3030 152.00 | 130.00 125.00 76.00 25.00 19.00
WM35 3535 184.00 | 155.00 151.00 89.00 32.00 25.00
WM40 4040 225.00 | 195.00 187.00 102.00 32.00 32.00
WM45 4545 254.00 | 220.00 213.00 114.00 38.00 38.00
WM50 5050 270.00 242.00 228.00 127.00 38.00 38.00




L/%M/:DG caiiT: www.ziptrading.org moura: sales@ziptrading.org Temn.: +7 (495) 36-36-697

BTYJIKN KOHUYECKUE TAPER BUSH / TAPER LOCK

BUSH SCREW SCREW
TIGHTENING
1008 1/4"
1108 56 2 BSW
1210 3/
1215 20 2 BSW
1310 3/8"
1315 20 2 BSW
1610 3/8'
1615 20 2 BSW
2012 31 9 ;’51\‘1
2517 48 2 ;;";
3020 508"
3030 90 2 BSW
1/2"
3535 112 3 BSW
5/8"
4040 170 3 i
34"
4545 190 3 g
7/8"

Far remaving from shaft
Bushing half of hole threaded
| Hub hall of hole not theaded

Pasition of screw

|_ B _| {0 fightan bushing

Set chrew

for tightering on shal

Hub half of hole threaded
Bushing half of hole not threaded

included angle

1008 - 3030 Taper Bushings

BUSHNO A B D  SetScrews
1008 1.386 7/8 1 21/4 1/4x1/2
1108 1.511 78 1 29/64 1dxtj2
1210 178 1 13 3/8x5(8
1215 178 11 134 3/6x5/8
1310 2 1 178 3/8%5/8
1610 2114 1 218 3/8x5/8
1615 21/a 11)2 218 3/8x5/8
2012 23/4 11/ 25/8 7H6X7/8
2517 38 13/ 31 121
2525 338 212 31/ 1f2x1
3020 41/a 2 4 5/ex1 1/4
3030 414 3 4 5/8x1 1/4

3535 - 5050 sizes

Position of screw

’— B —‘ to tighten bushing

Far ramaving from shatt
" A Bushing hall of hole threaded
" f Hub half of hole not theaded

P

F Socket thread sel scrows

L_ D (Bon Cinda)

i For tightenng on shaft
i e Huly half of hole threaded
— Blaper Bushing half of hole not
included angle 5 threaded

[



L/%M/:DG caiiT: www.ziptrading.org moura: sales@ziptrading.org Temn.: +7 (495) 36-36-697

A DIN 6885 GB 1095-1979
Bush Bore Bushing Bush Bore Bushing Bush Bore Bushing Bush Bore Bushing Bush Bore Bushing Bush Bore Bushing

No Keyway No Keyway No Keyway No Keyway No Keyway No Keyway
10 [ 3x1.40 14 20 25 35 55 | 16x4.30
TP 16 | 230 o | 6280 L] ag | 10x3.30 I
12 18 24 30 0 o g5 | oK%
14 19| so080 25 | 5330 32 42 ) 70 20x4.90

5x2.30 ; : :
16 20 28 35 | 10x3.30 45 25 |
1008 | 18 22 30 38 48 | 14x3.80 80
22x5.40
19 24 3 40 50 o
o | (PO 25 35 | 10x3.30 a2 | 12830 55 | 16x4.30 %
22 28 | 3% 2517 38 T 3020 [ o : g5 | 2554
30 18x4.40
24 | 8x2.00 |1g10 40 | o aag 48 | 14x3.80 65 4545 | 100
25 | 8x1.30 32 42 50 10| s 105 | 28x6.40
10 | 3x1.40 35 | 10x3.30 45 55 | 16x4.30 75 : 110
11 38 48 | 14x3.80 60 80
12 | 4x1.80 40 | 12x3.30 50 o5 | 18x4.40 g5 | 22x6.40
42 | 12x2.20 55 | 16x4.30 70 90 | 25x5.40
14 X4, XD,
20%4.
1g | 5x2.30 60 | 18x4.40 | S
18 20 | 6x2.80 25 40 | 12x3.30 60 | 18x4.40

1180 | 19 22 28 | 8x3.30 42 65
oo | 6x2.80 24 30 45 70 | 20x4.90
o5 25 32 48 | 14x3.80 75
24 14 28 | 8x3.30 35 | 10x3.30 50 80 | 22x5.40
a5 | X330 16 | 5x230 30 38 55 | 16x4.30 85
28 8x2.00 18 32 40 12x3.30 60 18x4.40 90 | 25x5.40
11 19 2525 | 35 | 10x3.30 | 3p3p | 42 2 4040 65 5050 | 95
12 | 4x1.80 og | 6x280 38 45 70 100
12 o0 40 | 12x3.30 48 | 14x3.80 75 | 20x4.90 105 | 28x6.40
16 5x2.30 24 42 50 80 110
18 = [ 45 55 | 16x4.30 85 | 22x5.40 115
e 28 i 48 | 14x3.80 60 90 | 25x5.40 120 | 32x7.40

6x2.80 18x4.40

1210 | 20 1615 | 30 50 65 95 125
20 32 55 | 16x4.30 70 | ova00 100 | 28x6.40
o4 35 | 10x3.30 60 | 18x4.40 75 i
25 34
og | 8330 40 | 12x3.30
30 42 12x2.20
32 | 10x3.30
11
1p | 4x180
141 54030 18
16 .

18 g | 6x2.80
19

1215 20 | 6280 22
e 24
24 32 8x3.30
25
og | 8¥3.80 30
30 32
32 [ 10:6.30 35 | 10x3.30

38
14| g [2012 =
16 12x3.30
18 42
5 | 280 48 | 14x3.80
50

1310 |-22
24
25
og | 8¥3.30
30
32
a5 | 10x3.30




Lj m/;?w caiiT: www.ziptrading.org moura: sales@ziptrading.org Temn.: +7 (495) 36-36-697

B B.S.46:Part:1958

Bush Bore Keyway Bush Bore Keyway Bush Bore Keyway  Bush Bore Keyway Bush Bore Keyway Bush Bore Keyway

No WIDTH DEFTH ~ No WIDTH DEPTH NoO WIDTH DEPTH No wioTH DEPTH No WwIDTH DEPTH No WIDTH DEPTH
12 |0.125(0.062] 12 |0.125|0.062 12 |0.125|0.062 ki3 1316 0.312/0.125 11518 | 0.50 |0.156
a6 918 58 1516 | 0.25 |0.125 11a | : 2

0.187|0.093
5% 10.187/0.093 8 10.187|0.003 e . | @ ik
1116 1118 34 118 1716 |0.375|0.125 238 |0.625|0.218
1008| a4 34 13118 1318 | 0312|0125 112 2718
13/16 1318 78 1 1i4 158 258
025 |0.125
78 025 0125 78 15116 15016 11116 | 0.437 | 0.156 2 34
0.25 |0.125 0.75 | 0.25
1516 i b 151186 1 138 (0375|0125 134 278
1 * 082 1 11/16 1718 178 21518
2 |0.125)0.062| 1610 | 1116 118 0312]0.125 112 11516 |0.50 |0.156 3
816 118 9312|0125 13116 1916 2 318
58 0.187/0.093 13ne 114 15 | 0.437|0.156 218 3 318
11/16 114 1518 111118 2318 314
34 1 5/16 138 0.375/0.125 1 3/4 214 4545 3am
1108| 13118 138 0.375/0.125 1718 11318 2516 |0.625(0.218 d71e | 0875|0312
78 1718 112 178 |0.50 |0.156 238 312
0.25 |0.125 2517
15/16 112 18/16 3020 1 1516 3535 2718 358
! 1916 1 437{0.125 158 14 437{0.156 2 242 S
1118 o.94200.078 158 11118 2118 258 378 |1.0 |0375
118 | ) 12 |0.125|0.062 13i4 218 211118 3 15118
2 |0.125|0.062 918 11316 2316 234 4
9/16 58 1 ?:8 21/4 278 bR |9 418
0.187|0.093 0.50 |0.156 0.625|0.218
58 1116 11516 2516 2 15/16 4318 [1.25 |0.437
0.187|0.093]
1116 3/4 2 238 3 4114
34 1318 28 2718 31 4 38
13/16 |25 |0.425 21 0.625l0.218 212 336 [0.875(0.312 4716 |1.25 |0.25
1210| 78 15/16 2 y1e 258 314 412
0.25 |0.125
1516 1 214 2118|075 |0.250 35118 434
1 1615 | 1118 2516 2314 Jas 2716 |0.625|0.218
1118 118 238 21316 3718 a0 21518 |0.75 [0.25
: 1 e e e L 2 0.75 |0.218 31 3 0'375 0.312
1-1/8 0.312/0.125! 38 il ne |0, \ 1/2 38 | 0. i
13/16 11 22 215018 3716
1-1/4 15/16 34 |0.187]0.093 3 1716 358
: 0.125(0.062 1 0.25 |0.125 1 L :15“f
1z |0 ¥ 8 | 0.375/0.125 7 |o25 lo125 15(16 | 0. . 12 34
916 1718 1 1 158 5050 37e |1.0 |[0.375
5@ 0.18710.093 11 '.'Iz 11 18 ol 11 18 gt 1111}16 0.437|0.156 3 1:.'15
1116 916 0.437/0.125 316 | 0. : 316 | 0. . 3/4
304 158 1114 1144 178 4144
13/16 12 |0.125/0.062 138 1518 11516 |0.50 |0.156 438 |1.25 |0.437
1215| w8 0.25 0.125! 916 1718 |0.375|0.125 138 | 0375|0125 2 4716
15118 58 | 0.187/0.093 11/2 1718 218 41/2
1 11/18 158 112 2318 478
11”15 3/4 1111.f16 0.437|0.156 11 916 o im 0.625|0.218 4 1:15 1.25 |0.312
118 031200125 1316 304 58 | 0. . 3/8
1318 78 |25 |0.125 113118 11118 2718
114 15116 178 1 34 212
0.50 |0.156
12 |0.125(0.062 1 11516 113118 258
9/16 11118 2 17/ [0.50 |0.156 21118
58 118 2525| 21/ 11518 4040| 234
0.187|0.093 0.312(0.125 : ]
1116 1318 2318 |0.625/0.218 (3030 2 278 015 Qb
34 2012 | 114 2114 2116 215118
13116 1 5116 25016 218 3
™ 25 [0.125 138 16 375/0.125 238 1 0.625/0.187 A =
15016 1718 278 214 3ane
1 112 2z 2516 Qees {0218 R
0.875(0.312
1310| 1118 19118 238 38
118 0.312/0.125! 1508 0.437/0.156 2718 3716
1316 1116 212 312
114 13/4 258 358
1518 500,12 113n8 o.50 loiss 2118|075 | 0.250 3118 (1.0 |0.375
138 QaTE(0:108 178 | : 2304 3304
11516 278 37e
0.50 |0.125
2 21518| 0.75 |0.218 31516 (1.0 |0.25
3 4
476 |1.25 (0.25




L;&y;}ﬁ caift: www.ziptrading.org mnoura: sales@ziptrading.org Tten.: +7 (495) 36-36-697

BA3bI KPEIUIEHUA 1JIS1 MOTOPOB

Motor Base

C D E(min)

XD210 (195|210 |98 | 43 | 100 | 34 | 25 | 50 [10.5| 20 | 38 | 70 | 3 |90 19
XD270 (195|270 (98 | 43 | 100 | 33 | 25 | 50 |(10.5| 20 | 38 | 70 | 3 |150| 19
XD370 (213 | 370 (109 65 | 100 | 35 | 30 | 50 |10.5| 20 | 42 | 70 | 3 |17.5| 19
XD340 [ 280 | 340 (165| 90 | 135 | 40 | 30 | 62 |12.5| 27 | 26 | 95 | 4 |180| 22
XD430 [ 282 | 430 (165| 90 | 132 | 40 | 29 | 62 |12.6| 27 | 30 | 95 | 4 |271| 22
XD490 | 410 | 490 | 284 | 193| 114 | 40 | 30 | 60 |15 40 | 24 | 95 | 4 [336| 22




L/%M/:DG caiiT: www.ziptrading.org moura: sales@ziptrading.org Temn.: +7 (495) 36-36-697

G2
G1
\‘\I\\\ ),r),l M
R . e ) 4—./.
E==: = | S
i ] o
& A A A I I
—b/2— $d— L] B |
b a s
I
N Dl e @F_ﬂiﬂw
OB

Total Length Slide Length

Motor-type MXH

L G1

312/6 312 240 63/71 MBX19 | 75X6 262 | 16 | 280 | - 12| 40| 28| 30| 1.4
312/8 312 240 80/90 M8X27 | 75X6 262 | 16 | 280 | - 12 | 40| 28| 30| 1.5
375/6 375 305 63/71 MEX19 | 75X6 325| 16 | 343 | - 12| 40| 28| 30| 1.5
375/8 375 305 80/90 M8X27 | 75X6 325| 16 | 343 | - 12|40 28| 30| 1.6
375/10 375 305 100/112 |M10X32| 75X6 325| 16 | 343 | - 12 | 40| 28| 30| 1.6
395/8 395 302 80/90 M8X28 | 97X8 325 | 20 | 355 | - 12 | 50| 40| 43| 3.4
395/10 395 302 100/112 |M10X35| 97X8 325| 20| 3565 | - 12 | 50| 40| 43| 3.4
495/8 495 405 80/90 M8X29 | 97X8 325| 20 | 455 | - 12| 50| 40| 43

495/10 495 405 100/112/132{M10X35| 97X8 325 | 20 | 455 | - 12| 50| 40| 43

495/12 495 405 160 M12X49| 97X8 325| 20 | 4585 | - 12| 50| 40| 43

530/10 530 413 132 M10X37| 119X9 | 442 | 25 | 480 | - 14 | 60| 50| 54 | 6.4
530/12 530 413 160 M12X49| 119X9 | 442 | 25 | 480 | - 14| 60| 50| 54 | 6.4
630/10 630 515 132 M10X37| 119X9 | 542 | 25 | 580 | - 14 | 60| 50| 54 | 8.2
630/12 630 515 160/180 |M12X45| 119X9 | 542| 25 | 580 | - 14 | 60| 50| 54 | 8.2
686/12 686 538 160/180 |M12X43| 154X12 | 575 | 28 | 630 | 315| 18 | 75| 60| 64 | 12.8
686/16 686 538 200/225 [M16X62| 154C12 | 575| 28 | 630 | 315| 18| 75| 60| 64 | 12.8
864/16 864 700 200/225 [M16X60| 300X16 | 810 | 32 | 800 | 400| 24| 90| 75| - | 16.6
864/20 864 700 250/280 |[M20X68| 300X16 | 810 | 32 | 800 | 400 24| 90| 75| - | 16.6
1072/20 1072 865 250/280 |M20X77| 360X19 | 995 | 36 | 1000 500| 30 [112|100] - | 33.4
1072/24 1072 865 315 M24X88| 360X19 | 995 | 36 | 1000| 500 | 30 |112] 100 - | 33.5
1330/24 1330 1065 315/355 |[M24X95| 430X21 | 1215 40 | 1250| 625 | 30 |130, 125 - | 33.6




